
SJN-298/10 (  1  ) [P.T.O.]

Note : Attempt all the five questions. One question from each

unit is compulsory. All questions carry equal marks.

All questions carry equal marks.

lHkh ik¡p iz'uksa ds mRRkj nhft,A izR;sd bdkbZ ls ,d iz'u

djuk vfuok;Z gSA lHkh iz'uksa ds vad leku gSaA

Unit-I / bdkbZ&I

Printed Pages : 8

SJN-298
B.Com. (Part-I) Main Examination, 2021

(New Course)

COMMERCE

( Business Mathematics )

[ Paper : First ]

Time Allowed : Three Hours

Maximum Marks : 75

Minimum Passing Marks : 25



SJN-298/10 (  2  )

1. Solve by Elimination Method :
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 

foyksiu fof/k }kjk gy dhft, %
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OR/vFkok

Solve the following linear programming problem by

the method of graph :

Maximize

1 23 4z x x 

Such that

1 2 1x x    or 2 2 1x x 

1 2 0x x    or 2 2 1x x 

and 1 2, 0x x 

fuEufyf[kr js[kh; izØeu leL;k dks xzkQ fof/k ls gy

dhft, %
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vf/kdre dhft,

1 23 4z x x 

tcfd

1 2 1x x    ;k 2 2 1x x 

1 2 0x x    ;k 2 2 1x x 

rFkk 1 2, 0x x 

Unit-II / bdkbZ&II

2. (a) Find the value of the determinant :

fuEufyf[kr lkjf.kd dk eku Kkr dhft, %

1 1 1

1 2 8

1 3 27

(b) If 
2 1

3 5
3 4

A A I
 

  
 

 Find the value.

;fn 
2 1

3 5
3 4

A A I
 

  
 

 dk eku crkb;sA

[P.T.O.]
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OR/vFkok

Find the value with the help of log table :

y?kqxq.kd lkj.kh dh lgk;rk ls eku crkb;s %

 

3

3

68.27 25.26

2.634



Unit-III / bdkbZ&III

3. Calculate the compound interest on  6,000 for 2 years

if the interest is payable half yearly and the rate of

interest for the first year is 9% per annum and that of

the second year is 6% per annum.

6,000  ij 2 o"kksZa dk PkØo`f) C;kt Kkr dhft, ;fn C;kt

v/kZokf"kZd ns; gS rFkk C;kt dh nj izFke o"kZ ds fy;s 9% ,oa

f}rh; o"kZ ds fy, 6% gSA

OR/vFkok

(a) Find the amount, present value and interest of

an annuity of  500 for 8 years, the rate of

compound interest is 5% p.a.
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5% pØof̀) C;kt dh nj ls 8 o"kksZa ds fy;s 500 

dh okf"kZdh dk feJ/ku] orZeku ewY; ,oa C;kt Kkr

dhft,A

(b) A   1000, 6% debenture redeemable at per on

July 1, 2002 is bought on July 1, 1975, to earn

5%  compounded semi-annually. Find the

purchase price P.

(Given : 29.45682876an i   for n = 54,

i = 0.025)

1,000  6% dk ,d fMcsUpj le ewY; ij tqykbZ 1]

2002 dks fu"Øs; gS] tqykbZ 1] 1975 dks 5%

v/kZ&okf"kZd la;ksftr C;kt IkzkIr djus ds fy, [kjhnk

x;kA Ø; ewY; P crkb;sA

¼ f n;k g S %  n = 54, i = 0.025 d s fy,

29.45682876an i  ½-

Unit-IV / bdkbZ&IV

4. (a) A bag contains 5p., 10p., 20p., 50p. and  1

coins in the ratio 1 : 2 : 3 : 4 : 5 : 6 respectively.

If the total amount is  414. Find the number

of each type of coins.

[P.T.O.]
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,d FkSyh esa 5 iSls] 10 iSls] 20 iSls] 50 iSls vkSj 1

#i;s ds flDds Øe'k% 1 : 2 : 3 : 4 : 5 : 6 ds vuqikr

esa gSaA ;fn dqy jkf'k 414 #i;s gks] rks lHkh izdkj ds

flDdksa dh la[;k Kkr dhft,A

(b) For 240 soldiers, there was 55 day's food in a

cant. After 35 days, 60 more soldiers came.

Then how long the remaining food will be

sufficient ?

,d Nkouh esa 240 lSfudkas ds fy, 55 fnuksa dh jln

FkhA ;fn 35 fnuksa ckn 60 lSfud vkSj vk tk;sa] rks 'ks"k

jln fdrus fnu vkSj pysxh \

OR/vFkok

(a) Santosh purchased some books of Economics

on an average price of  38. Out of these, 10

books were purchased at  35 each and the

remaining books were purchased at  40 each.

Calculate the total number of books purchased

by Santosh.

larks"k us vFkZ'kkL= dh dqN iqLrdsa 38  ds vkSlr ewY;

ij Ø; dhA buesa ls 10 iqLrdsa 35  izfr iqLrd dh

nj ls rFkk 'ks"k iqLrdsa 40  izfr iqLrd dh nj ls Ø;

dhA crkb;s fd larks"k us dqy fdruh iqLrdsa Ø; dhA
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(b) Due to 30% increase in railway fare, the

number of passengers is reduced by 30%. Find

the percentage increase or decrease in income.

jsy HkkMs+ esa 30% dh o`f) ds dkj.k ;kf=;ksa dh la[;k

30% de gks tkrh gS] rks vk; esa izfr'kr of̀) ;k

deh crkvksA

Unit-V / bdkbZ&V

5. (a) An agent remits to his employer  28,058 after

deducting 5% commission on first  8,000 and

1
3 %

4
 commission on the remaining sale.

Calculate the price of the goods sold by him

and his commission.

izFke 8,000  ij 5% rFkk 'ks"k foØ; ij 
1

3 %
4

orZu dkVdj ,d vfHkdrkZ vius iz/kku dks 28,058 

Hkstrk gSA mlds }kjk csph x;h oLrq dk ewY; rFkk

mldk deh'ku Kkr dhft,A

(b) A broker's income is  1,650 remain unchanged

though his brokerage is increased from 5% to
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1
6 %

4
. Find the percentage decline in his trade.

nykyh dh nj 5% ls c<+kdj 
1

6 %
4

 djus ij fdlh

nyky dh nykyh 1,650   gh jgrh gSA mlds O;kikj

esa fdrus izfr'kr dh deh gqbZ gS \

OR/vFkok

A trader sells two horses for  990 each. On

this deal he gains 10% on the first horse and

loses 10% on the other. Find the percent of

total gain or loss.

,d O;kikjh 990  izfr ?kksMs+ dh nj ls nks ?kksM+s csprk

gSA bl O;ogkj esa mls izFke ?kksM+s ij 10% YkkHk vkSj

nwljs ?kksM+s ij 10% gkfu gksrh gSA mls dqy feykdj

lkSns esa fdrus izfr'kr ykHk ;k gkfu gqbZA

 ----x----


